Section A

J.M.J.CH tiple ,
: ) Multiple Choice - 10 marks

MARCELLIN COLLEGE RANDWICK
Answer all questions on the sheet provided

S
<~ LR

1. Expand and simplify 10 + 8—4(3y +5)

(A). ~2y-52 (8) —2y-12 (C) -2y+12 (D) 2y+28
YEAR 9
Mathematics Stage 5.3 :
2, Solve 5a—2=4+6
HALF YEARLY EXAM . S _
Task 2 _ 9
2014 . (A) a=1 B} a=12 ‘ € a=2 D) ams

Weighting: 30% of Assessment Mark.

3. Jason buys software costing $104.50 Including a 10% GST. He Is entitled to claim
the GST back from the taxation office. How much GST can he claim?

STUDENT NAME: _ .. . S

(A) $9.50 (B) $10.45 (C) $94.05 (D) $95.00
TEACHER NAME: __. -, - -
MARK: . / 100 A Whatis abx® ~ @’ fully factorised N
TIME ALLOWED: 75 minutes. ) i

(A) -ab(x" ~a% (B) a*(x? -5?)
DIRECTIONS: % _

_ , Q) ab(x+a)(x—a) (D) a*(x+b)(x—b)
* Answer all questions. ) . e ' .
. ‘S hd )

¢ Show all necessary working where mofe than one mark Is allocated to a question.
s Full marks will not be awarded for answers only. . 5. What is the value of 3x2 + 6x — 8 if x= -3
¢ Marks may not be awarded for badly arranged work. ‘ . _ )

A) -44. - B) -1
s Calculators are allowed (A) _( ) 17 (1 (D). 37




6. Which of the following statements is correct?
(A) 8y—1ly=3y (B) 9x*—x=9
(C) 5ax3a=15a (D) cd+5¢d =6cd
7. What is 0.0407093 written with two significant figu res?
(A) 0.041 (B) 0.407 (C) 0.040 (D) 0.04
8. What is O.QQQ@QQ@L& mm expressed in scientific notation?
(A) 0.124x107 mm (B) 1.24x107 mm
{C) 0.124x10° mm (D) 1.24%10” mm
S. John planted apple and peach trees In the ratio 3 : 2. If there are 30 trees altogether,.
how many peach trees are there? )
(A) 6 ' (8) 12 © 18 . (D) 20
10.  Given 4x -8=17 what Is the value of x

e

(A) 3 (B) 5 © 81 (D) 625

Section B

Number and Measurement - (10 Marks )

Marks
1. Find, correct to two significant figures, the value of . 2
R
3.24? \
6.71-3.82 ‘
2. Complete the following conversions: 2
(a)  2634km =_ . m {b)  45600kB = = - MB ;I
_— —_—
3. The cost of a television increased by 20%. Find the ice if i i "
. new price if it w ‘
riead ot o p as originally 2
4, John bought a new camera from a shop offering a 15% discount. If he paid $850 2
for the camera, what was his savings?
5. Express 0. 56 in simplest fraction form. 2




Indices - {22 Marks )

Algebra - (14 Marks) Marks Marks
1 Expand then simplify each of the following’ L Simplify
. ¢ . ———
7+2(m-3) " : ’ T, ' . {a)  182%+34° // . \]
(a) +,,(Ln,~, 7 : _ ) 2 v / | .
i , \
(b)  20x+4)~(x—3) : : . ZT S
. - . (b 3.4 2.2
. (b)  sxly ><2x).) / ) /
| \
3‘&
ey 5x7 +3x(x* - 2x) . 2
6 0
()  [(6x) L
(d)  4(a-b)+4b—a 2
15x3
: @ == )
&) 5(Bx-2)-2(5x+3) - ' 2
(H  (By—2)4y+5) ' | 2 .
‘i ) ‘ . (e) 8}/0 %4},3 ] .
Ty ‘;;f."“’/ s
. 2., 3 -
(8) 11+ %)(9-%) ) H  5*xs5 (Leave in index form) .
S —



Simplify

Marks

(@) 3x7x4x K

///—_—~.Mp¥‘“ﬁ

()  (axH?

{
10a%® x 3bc"
(c) T e 3 api2 3
5a° x3b’c
'/3/ S
(d) 5y x 3y3 2
t (). (3x)72 (Simplify, writing your answer without a negative inﬂce) 2
(S5 . .
o Jy (Write using a fractional indice) 1
Y T
3 . 1

x? (Write using a fractional Indice) -

Factorising Aléebraic Expressions. - (12 Marks) M Kk
arks
1. Factorise completely
(2 3x—6y
— !
(b)  20x%+12x
1
(¢) x*-49
, 1
7N
. (dﬂ 9a*-b* +3a-b
(N 2
(e) %2 +8x+15
2
{f) x*+x-12
i 2
)" 24 +7a-15
3




2.

J

Solve the following Inequality and graph the solution on the number line

V—-2x =23

T—— .

-
-10-9-8-7-6-5-4-3-2-1 0

-+

T

I
¥

=t ———
12345678910

Equations, Inequalities and Formulas - {24 Marks ) Marks
1. vSo!ve the following equations
@ 3m¥g=19 "' -2
(b)  6(a+3)=7(10-a) 3
S5x+1 Yy
c =17
c) 3
7 . ’b y . -
(@ ﬁ;—(g]ﬂ ‘ 3
;» '1 . -
f
(e) (M_EF'J) 3
v ‘5 oo
13y-7 )

3.

In the formula " = % find the value of Twhen k=21and A=7

4,

Given the formula V =7/ where V= 1800 and h = 16 what is the value of r

(Glve your answer correct to 2 decimal places)




Simultaneous Equations - (8 Marks) » _ Marks

1. Solve the simultaneous'equations

— e —

(a) x+y=12 2
: X—y=6
(b) x—2y=1 ‘3
2x+y=17
|
. 2x+43y=21
(c) : 3

4x—5y=-13




J.M.J.CH , ‘ Séction A

MARCELLIN COLLEGE RANDWICK

YEAR 9
Mathematics Stage 5.3

Multiple Cholce - 10 marks

Answer ail questions on the sheet provided

10y -y 20
Expand and simplify 10y +8-4(3y+5) ~7-j -

(A) 2y-52 —2y—12 O 2y+l2 (D) —2y+28

HALF YEARLY EXAM :
Task 2 , 2
2014

Weighting: 30% of Assessment Mark.

Solve 55'1'~2=‘ +6 o ~_:’;T(D“;7~' }%:% ' a2

' 2
() a=1 @ asi ‘@a=2 (D) a=4

- LUTIONS
STUDENT NAME: HMASTER coftf - sotu

TEACHER NAME: _ . -, - -

MARK: : / 100

Jason buys software costing $104.50 including a 10% GST. He Is entitled to claim
-the GST back from the taxation office. How much GST can he claim? . .
- NoJ <ot .50

. ' - . .- 9agyg
(A) $9.50 (B) '$10.45 (C) $94.05 $95.oo‘:/,/‘ »qj

| ()
TIME ALLOWED: 75 minutes. o o @

DIRECTIONS: ¥

* Answer all questions.

Show &l necessary working where mofe than one mark is allocated to a question.

. Full marks will not be awarded for answers only.

What s abx? -a’h fully factorised @{«N Qt) (IL‘QL )
ab( 49) (£.q)

e Marks may not be awarded for badly arranged work. » 5.

Calculators are allowed

(A) -ab(x? - (B) a*(x*-p7)
@ ab(x + a)(x - a) 3 (D) (e+b)(x-5)
What s the value of 3x2 + 6x — 8 if x= -3 .2)(—3)

BRI SUVER

(A) -44. - (B) -17 GOF e




Which of the following statements is correct?

(B) 9x*-x*=9

| cd +5cd = 6¢d

(A) 8y—-1ly=3y

(C) Sax3a=15a

What is 0,0407093 written with two significant flgureé?

0.041 (B) 0.407 (C) 0.040 (D) 0.04

What is 0.000,000,124 mm expressed in sclentific notation?

'1.24x1§-’ mm

(D) 1.24x10" mm

(A) 0.124x107° mm

(C) 0.124%10° mm

John planted apple and péach trees in the ratio 3 : 2. If there are 30 trees altogether,

9.
how many peach trees are there? . Gwv“ﬂ)o
o ' \pur b
(A) 6 - 12 ©18 . (D) 20
"i;gx i . X
NPT i L
.10, K_}'— &“ o S;L: ’@ )
' ¥

Given +/x —8 =17 what is the value of x

e

?2) 3 ' (é)s’ " (o) 81 625 

Section B

Number and Measurement - (10 Marks )
Marks

Find, correct to two significant figures, the value of

o 23.bhg758 ‘ e
6.71-3.82 % 2 55gnifirpnd Fing = 3.b

_—

2, Complete the following conversions:
2

45600 kB/_‘_‘P_SLMB

3. e cost o e, 1S Yy 0. p
a televi io ”CIEESed b 20% Fi ld the new price if t was orj ina l

() 263¢km =_2b3%e

GVD = IOOZ
G = V. - New price 2§76

‘768 = \207, /

4, John bought a new camera from a feri
: shop offering a 15% discount. If h
for the camera, what was his savings? ) " peld $850 ?

85/ 285 he Saed §)co
17 - 1o -
' ]o.,% - |ooo
5. Express 0,56 in simplest fraction form. : | ’ 2

o, Xoo. b6 . Qex =51 . )

B X = G.b q 9o : ;/
Vooy. G (a . X~ _\_Z_
loa) - lox zqox 3o

[y

5b. ~ 5 6 5]




Algebra .- (14 Marks) Marks
1, Expand then simplify each of the following-
(a) 7+2(m-3) 2
-~ 7T4Hmb )
pl IE VA g

(b)

. 2(x+4)—(x—3)
=X '\‘3
~ X+l

(c)

5x? +3x(x? - 2x)

3 2

CGY AN -6
23
S RS ¥

(d)

4(a—-b)+4b—a
< 34

&)  5(3x—2)-2(5x+3) 2
~ 1S -to=lax b o
2 5-lb </
H  Gy-2Uy+5) 2

*

[

\25 ¥ 7j ~\o

\1JL %\Sj -%j o

-

e

{g)

(14 x)(9-x) .
2 44 ~\heagy x
2 g4

Y

Indices - (22 Marks )

Marks
1. Simplify
R T
(a) 184%+34° (’i“l
6 )3 2
Ei L
L 5){1 5‘313
) 34522 3
(b) Sxly :2xy 2,,451:‘;0 2
[0 56 e
{c) | (6x)° 4
- /
152 A
(d) 6x? S‘\'%)L i 5_)&. 2
26" T2 —
: [
(e)  8y® X4y 1

g x q-j; = 5232

s

®H 52xs53 (Leave in index form)

§

5

/3



3y Xt

Marks

2. Simplify .
yb ‘
B > 1 R o |
(@)  3x7x4x’ - 13 X /,’ o — = W2X /,.2 L
. A
S
(b} . (4x3)? VD )
- by e
SRR
' 23 5 11 3\9&(” 82 \2,7 '
@ HesEEE o 2ch s
X c - —— 7
a S 4 Tad ¢ a ,
\ :
(d) @ / 2
¥)=Y% B ¥
S U
@ (3%)~? (Simplify, writing your answer withouté negative Indice) 2 A
s . . el
. 4 o / )
- Tt : _
Sf) \/'37 ‘(Write ugi_f;g a fraction‘él indice) / 1
= 9
(g) 3xz_ , (Write using a fractional Indice) : / 1
5 , v
Y

'\/\/

%

Factorising Algebraic Expressions. -

1

(12 Marks )

Factorise completely

Marks

(a) 3x — 6y

xzj)\/

/ 1

(b)  20x*+12x

Y (5t 13)

{e)  x*-49
(3 47) (31-7)

9a* -b* +3a-b
(3938) (3a-b) + 3a-b

- 3@‘-)0[(3@ “t‘g} 1 ]
(39-5) (394b 1)

LZ

() x*+8x+15
N L) S S R
2 O(35) 1310 35)

- Oe)(x¥h)

YRS

() K +x-12

X B)(%\m SYS
(o= 5) Y (x-3)

= (xdy) (1-5)

Ve

Y9 W 7

Y

@ 2d+7a-15
2«14\06\ g 1S
2a(235) -3l 3%)
- {2430 (=¥5)




Equations, Inequalities and Formulas - (24 Marks) Marks
. 2. Solve the following inequality and graph the solution on the number line
1. Solve the following equations :
. \g— w351 - : _ o
(a) 3m+\i=19 - \ . 9. 2 R : 2
- U7 : ~Ix = —lo
yo . YL 5 v///
b 6(a+3)=7(10— 3 v /
()(a+)7( a) \Sq*:’?O\'g 3 {l'l[ll!/(llllll@lllll I
baylg2 707 - S 0876543510 1234567800 1
- %4 34352 0‘_\\; 10-9-8-7-6-5-4-3-2-101234567 8910
*—q" . G -
@ Eogw 9 — ,
S)L-\\:ll-l X=V / ‘ 3. In the formula T =7 find the value of Twhen k=21and A=7 2
- % . N
A ‘ iy <L~
ié < ‘= 21x7 .
;5\15 ESH) o ’
lok -3b 215 h-27 / 70 /
=1 ® .
b =l 1. 2.)
" (2x;—3_(%):3ﬂo .
{ A g ! 4 Given the formula V=nr*h where V = 1800 and h = 16 what Is the value of r? 3
\;(2)& A -bo Y - \ g .(Give your answer correct to 2 decimal places)

gy 3t - Sx<be
© g abo

Ty __‘,—::’/
13y-7"
(f) z —ZJT xb
\‘Xj =1 ': \2] ~\%)
HEJ ~71z 9=7

RegI—

3

Nz _WVI\')
1500 2 T e b

%00 = NI ?
Wy n,%

o 35. %oﬁ‘ b2y

({:. ipg gongzz

= ‘S-fjff. /




Simultaneous Equations - (8 Marks) Marks

1. Solve the simultaneous equations

(5) x+ y=12 /® 5\\|0 i im‘n' C({y) 0, )

e | | Iy =12 2
E((h @ 4 eqn@ | \,“ fj i\l—ff ,
= )( :l/ﬁ_ ' { /‘":
wr
_® - .
(b) x-2y=1 ‘ ,}Q eqy @ 5
2x+§=7 x1__ 0 Sulby- X inTe €n
- Y2y = | '
3(~1jvl ' “z.):\\; | g
oy =Y - i =
' Y=
EG(n .@ -\Eqﬁ @ . . L1 ‘ '
VSIS ' , . “j:] / |
g
D=3 /
5)12x+3y=21 ‘"~® gql) X‘h‘)ﬁd \Q[(V, @ 3

©3 % 4y 5y =13 —Q)

lox 415y =05
\D(:t“"ilﬁj t»i‘ 2(5) %\3) -2)
. E((n (\) ¥ QQW@ ‘\tﬁj .:Z,Jv(j

22 22 3 /
g Y= % \ / 335

3

X -\Sj.:Z!




